(1IM12 x 90 bolt,nut,washer
OO0 x4

2)M12 X 85 bolt,washer
C—0 x4

(3IM12 x 80 bolt,nut,washer
—— 000 x8

@)M12 x 75 bolt,nut,washer
—00® x4

(BM12 x 30 bolt,washer
o0 x4

B)M12 % 20 bolt, washer
@D x10

() M10 x 25 bolt,nut,washer
0000 x2

(8 M10 X 16 bolt,big washer
o (1) x4

(@) M10 X% 20 hex socket bolt
900 %10

0 M10 X 25 hex socket bolt
0O x4

A1) M8 X% 12 bolt,washer
@ X6

0 ¢ 10 big washer
() x4

13 M10 x 30 handle bolts

B x2

(14 P204 bearing

G x2

(n










| Y
— \.......A.....-,- a&? /,\,\,
NS 7
WA S

i .’///.i..ﬁﬂ»v“ii —— Y

(l(‘//”’o../’ " \ AN \ o
\ N X

ol e .
ﬂ--"/f/x 5 / \ \\m..
2527/
B







